Chapter 8: System of Equations

8.2 Solving Systems of Equations Algebraically

Warm Up:

Solve System of Linear Equations Algebraically.

2x+y =13
x+y=28
Use Substitution Use Elimination
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Chapter 8: System of Equations

Solve the system algebraically and verify your solution.

3x+y=-9
4x* —x+y=-9
Use Substitution Use Elimination
Y=-3x-9 I+ = =X
v
e g 2 a2y e -1
4 - -3x-9 = — 1 A
+1 +q — o 44x = ®)
4= -4 = O
- | =0
42 (x—1) =0 4 (=D
—4xX =0 -\=0
4x =0 X-1=0 “
X=o > = |
X= O ~ = \
Y=-3(od- fj':'SCi)“q (0,—) Clo—'2)
‘3:—5( ld: -2-19
- -]Z
J
(o, - (),-12)
Verify
Ner'dy (0,-4 VCV\LD (1=
LS RS LS £S
3(o)+(9) = -9 3(DH+C-12) = —A
7q - - 9 \/ 3 — 12 = "’ci
- - _ —q V
o DA (-1 = _ T
M2 ED= e ST re = o
L = -9 4 -\ () = -9
3 -1z = —a
Bsth  So 'R ave covceck .
;- TWo Sol? ave (0.-9) ond (1,—\2)




Chapter 8: System of Equations

Solve the system algebraically and verify your solution.

6x2—x—y=-1
4x% —4x —y = —6

—)xX*-3x+5 =0

Use Substitution Use Elimination

bx - A+ 1= Y bx*-x—y=—\
A -4~ (" -2 41) = =6 - (4xuxfy=—¢)
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Chapter 8: System of Equations

Suppose the crate’s height above the ground is given by the following two equations. (p. 445)
h = —4.9t% + 900
h = —4t + 500

a) How long after the crate leaves the aircraft does the parachute open? Express your answer to the
nearest hundredth of a second.

use subStitution

m———

-4 qt-+q900 = -4t t500
The ?ara.d\d't@
—_ 2 —_ =0
4qt> +4t +900-500 opens abovt
__4.q_e"_;. Uyt t4op = © ¥ A4S s aftur
- § otr e CAate leaves .
-4+ 2 _ 4(~4.a) 400) & /g‘\{ Lh\) = ofe
e _ 4284
b= % 2(44) T q4s
C = 400

b) What height above the ground is the crate when the parachute opens? Express your answer to the

nearest meter. c use ANS boton o use vpto 4 decma plaes
h= ~4(a.45) tS00
= 42 .19

When +he rqrac)nu‘u. opens , Ho Ofate S 42~ above
—thz arvav\s’L :

c) Verify your solution.

(A.ys, 4b2)
462 = —4.qays)y + oo
4Ly T A4b2 Y

The <ol s cocreut .



e

Chapter 8: System of Equations

Benjamin makes a good hit and the baseball travels on a path modelled by h = —0.1x? + 2x. Leah is in
the outfield directly in line with the path of the ball. She runs toward the ball and jumps to try to catch it.
Her jump is modelled by the equation h = —x?2 + 39x — 378. In both equations, X is the horizontal
distance in meters from home plate and h is the height of the ball above the ground in meters.

a) Solve the system algebraically. Round your answer to the nearest hundredth.

Us\na elimination

/»\/—v —0.1x* t2x
_,( .,x/"' 4 24X -3 6)

W= R

O =o0Ax* -31x*37%

vse quadradic formulo-
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Now ftu% in the X-Valves.

he - 0.1 (22:18)742 (2219

(1896, 1.96 )

b) Explain the meaning of the point of intersection. What assumptions are you making?

Leaun catches ~he bogsebail dump'\nﬂ (.Abm aldoove
T SNM and '9-4bm \rur\n'\nﬁ o the Leld.
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